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Suppose that a 2-D array “a” is declared as “int a] [={{1,2},{3,4,5},{6,7.8,9}}” in a Java

program, what is the content of each following element?
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For Java language, please describe each of following:
1. Overloading

2. Overriding

3. Exception

4. Thread
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What is the output produced by the following Java program?
class Student {
static int studentSN;
int studentID=111;
String studentName;
void set_student(int id,String n) {
studentID=id;studentName=n;}
void show_student() {
System.out.println("My name is : "+studentName);}
static{studentSN=100;}}
class Studentl extends Student {
void set_student(int id) {
super.studentID+=id; }
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void show_student() {
super.show_student();
System.out.println("My ID number is : "+this.studentID);} }
class MyClass {
public static void main(String{] args) {
System.out.print("My ID number is : "+Student.studentSN+"\n");
Student A=new Student();
A.show_student();
A.set_student(123,"Steven");
A.show_student();
Student] B=new Student1();
B.show_student();
B.set_student(111,"John");
B.show_student();
B.studentName="Mary";
A.studentName="Nancy";
B.set_student(111);
B.show_student();
A.show_student();}}
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